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Passage 1

The Internet
5

We are all busy ialking about and using the Internet, but how
many of us know the history of the Internet?

Many people are surprised when they find that the Internet was set
up in the 1960s. At that time, computers were large and expensive ( i 5
B). Computer networks (P1#) didn't work well. If one computer in
the networks broke down, the whole network stopped. So a new net-
work system ( Rt ) had to be set up. It should be good encugh to be used
by many different computers. If part of the network was not working,
information (f§ ) could be sent through another part. In this way
computer network system would keep on working all the time.

At first, the Internet was only used by the government, but, in the
early 1970s, universities (K% ),hospitals and banks were allowed to use
it t1oo. However, computers were still expensive and the Internet was
difficult to use. By the start of the 1990s, computers become cheaper and
easier to use. Scientists had also developed software (3 ) thar made
“surfing” the Internet (P £ ¥ ) more convenient (J%).Today it is
easy to get on-line and it is said that millions of people use the Internet
every day. Sending E-mail is more and more popular (%) among
students.

The Internet has now become one of the most important part of

people’s life.
1. The Internet has a history of years,



A. about 40 B. less than 30

C. more than 45 D. nearly 35

. Scientists set up a new network system to

A. make the computer cheaper B. use the computer widely
C. make the computer go well  D. develop new softwares

. The Internet was widely used in the .

A. 1960s B.1970s C.1980s D.1990s

. The underlined words “get on-line” in Chinese means “

A. E#l B. kR C. #5 D. LB

. Which of the following is NOT true?

A. In the 1960s computer net works system went wrong easily.

B. Computers are much cheaper than before.
C. Today the Internet is used everywhere.

D. People had enough softwares to get on-line fifteen years ago.



Passage 2

Meimei; We learnt an English word “universe” yesterday. What does it

mean when we talk about it, Dad?

Father; We mean the earth, the sun, the moon and the stars. We also
mean the space between them. Many of the stars cannot be seen
because they are too far away.

Meimei: What about“satellite” , then, Dad?

Father: For example, the moon travels round the earth. It is the satellite
of the earth.

Meimei: Why does it look much bigger and brighter than the stars?
Father:Because it is quite near us in space. It is only 380,000 kilometres
away. Two American men landed on the moon in 1969.

Meimei: Oh, how wonderful it is!

Father:Man can make satellites. Man-made satellites are very, very use-
ful. They go round the earth and help us to learn more about the
earth, the weather and other things. We can also use them to
help us make telephone calls to foreign countries. Thanks to
space satellites, the world is becoming a much smaller place and
people from different countries now understand each other better.

Meimei: Thank you, Dad. I've learnt a lot from your tatk.

1. How far away is the moon from us?

A. Three hundred eight thonsand kilometres.
B. Thirty-eight thousand kilometres.
C. Three hundred and eighty thousand kilometres.
D. Thirty-eight million kilometres.
2. Many countries have sent up their man-made satellites into space to
travel round
A. the moon B. the earth  C. the universe D. the sun
. 3 .



3. We can learn more about the earth with the help of
A. space B. stars
C. TV programmes D. man-made satellites
4. Before man-made satellites were invented, we couldn’t
A. make telephone calls from China to the United States
B. travel from Beijing to London
C. go to other countries by air
D. understand each other between different countries

5. Which of the following diagrams is right?




Passage 3

Canada and the United States are neighbours. They are on the same
land. They share? the same long beundary@).

These two nations are same in many ways. Canada buys many goods
from the United States. Cars and clothes are two examples. The United
States also buys goods from Canada. Much of the paper used in the Unit-

ed States comes from Canada. Some of the cil we use comes from Cana-

da. too.
Americans travel to Canada on holiday. POPULATION:USA-CANADA
And Canadians often visit the United States. gﬁg : “'-r
It is easy for the people of one country to go o 180 |
to the other country. é 160 -
Canadians read about the United States § :;g :
in newspapers and magazines. Many Ameri- -g 100 -
cans watch Canadian baseball and hockey T:m 2 i
matches on Sundays. = 0+
However® , there are important differ- 20 [_n
ences between the United States and Cana- 0 USA  CANADA

da.
The United States has many more people. Look at the population

chart® on this page.
Because tbe population is smaller, there are more open places in

Canada. There is much unused land. This is another important differ-
ence,
(Dshare [Jea] v. FHH; HE
@boundaty {'baundari] n. EF ;R E
B however [ havevs] adv. M ;W&
@ population chart A O El &




. Canada buys from the United States.

A. oil and paper B. nothing

C. many things D. everything

. In the second paragraph “we” means

A. Canadians B. Americans . Chinese D. students
. The United States has more people than Canada.
A. one hundred and eighty-five million

B. two hundred and eighteen million

C. twenty-two millioin

D. two hundred million

. The people in the United States Like Canadian .
A. newspapers B. basketball C. baseball D. «il
. Which one of the following statements is NOT true?

A. Canada is connected (FE$E) with America. .

B. Canada has not used all the land.

C. Canadians don’t like bockey.

D. Canda hss less people than USA.



Passage 4

Scientists® are trying to make the deserts® into good land again.
They want to bring water to the deserts, so people can live and grow
food. They are learning a lot about the deserts. But more and more of the
earth is becoming desert all the time. Scientists may not be able to
change the desert in time.

Why is more and more land becoming desert? Scientists think that
people make deserts. People are doing bad things to the earth.

Some places on the earth don’t get much rain. But they still don't
become deserts. This is because some green plants are growing there.
Small green plants and grass are very important to dry places. Plants
don’t let the hot sun make the earth even drier. Plants don't let the wind
blow the dirt away. When a bit of rain {falls, the planis hold the water.

Without plants the land can become desert more easily.

(Dscientist [saiantist] n. BHFH
@desert [dezat] n. BE

1. Deserts

A. never have any plants or animals in them
B. can all be turned into good land before long
C. ger very little rain
D. both Band C
2. Small green plants are very important to dry places because
A. they don’t let the sun make the earth even drier
B. they don't let the wind hlow the earth away
C. they hold water
D. all of the above
3. Land is becoming desert little by little because

A. plants can't grow there



B. there is not encugh rain

C. people haven't done what scientists wish them to do

D. scientists know little about the deserts

. Which is the main idea of the first paragraph (B3 )7

A. Scientists know how to change desert into good land.

B. Land is becoming desert faster than scientists can change it back
inte good land.

C. If scientists can bring water to desert, people can live and grow
food there.

D. More and more places are becoming deserts all the time.

- After reading this, we learn that

A. plants can keep dry land from becoming desert

B. it is good to get rid of the grass in the deserts

C. all places without much rain will become deserts

D. it is better to grow crops on dry land than to grow them



Passage 5

A Good Way

Mr Green lives in a village. He has a few fanms and is the richest
there. And he has pigs, chicks, cows and sheep. He works in the fields
with some workers, and his wife has to do all housework at home. So
she’s very busy and asks her hushand to employ (/&) a girl to help her,
but he doesn't agree.

“There're so many chicks, dear,”said the woman one day. “I can’t
look after them at all.”

“That’s easy,” said Mr Green. “There’'s Mr Black’s farm outside
our enclosuring walls ( Fl#& ) and the chicks. We'd better make a few
holes in the walls and chuks will go to his farm through them and eat his
vegetables. ”

“That’s a good ideal” the woman said happily.

And scon Mr Black found it. He told Mr Green and his wife about
it. They promised they would stop their chicks doing it but they didn't
keep their promises at all. The man thought for a while and found a
way. He put nearly twenty eggs near the holes one afternoon. And that
evening, when Mrs Green was counting her chicks, he called out in his
farm, “Ch, I'm lucky today! I’ve found twenty eggs in my farm.”

Of course, the woman saw it herself. And the next morning Mr
Black found all the holes had been stopped up (¥§3E).

1. The Greens and the Blacks lived .
A. in the different villages B. in the same town

C. {ar from each other D. next to each other

2. Mrs Green is busy because



A. she has a few farms

B. she has to do much housework

C. she has to help her busband

D. she isn’t strong enough to do all

. Mr Green doesn’t agree with his wife because

A. he has little money to employ a helper for his wife

B. he thinks his wife is very lazy

C. he tries his best to save money

D. he has enough time to help her to do some housework
. Mr Green made some holes in the walls to

A. let his chicks go to Mr Black’s farm

B. lay (%) some eggs in Mr Black's fields

C. make Mr Black angry

D. watch his chicks

. The Greens thought y 50 they stopped up the holes that
night.

A. Mr Black would kill their chicks

B. their hens laid the eggs in Mr Green’s fields

C. Mr Black’s chicks would go to their farms

D. Mr Black would tell the police ahout ix

.1[).



Passage 6

Mike is a young man. He has a very big dog and he has a very smail
ear, too. He likes playing basketball. Last Saturday afternoon he played
baskethall for an hour at the club (&) and then he ran out and got
into a car. His dog came after him, bur it did not jump into the same
car. It jumped into the next car.

“Come here, foolish (%) dog!” Mike shouted at it , but the dog
stayed in the other car.

Mike put his key into the lock of the car, but the key did not turn.
Then he looked at the car again. It was not his! He was in the wrong
car! And the dog was in the right car! “He’s sitting and laughing at
me!"Mike said angrily. But then he smiled and went to the right car.

1. Mike was interested in

A. his dog B. driving a car

C. the club D. playing basketball
2. Last Saturday Mike stayed at the club for .

A. a whole day B. cne hour

C. half an hour D. a whole afternoon

3. How did Mike know he was in the wrong car?

A. The dog jumped into the next car.

B. He couldn’t open the lock of the car.

C. The dog stayed in the other car.

D. The dog did not follow him into the car.
4. Why did Mike get into the wrong car?

A. He was a young man.

B. He was tired after he played basketball.

C. He was careless.

D. He was a foolish man.
v 11 -



